12a0499 (K12a0499)

Linearized knot diagam

" ON R

3 7 8 9 10 2 1 12 11 6 b5 4

Solving Sequence

6,00>11>5->12>9—>4—>1—>8—>3—>2—> 7> C2,C6
A knot diagranﬂ Clo € Ci1 €9 €4 Ci2 €8 €3 C1  Ct

Ideals for irreducible component#ﬂ)f Xpar

It = (u' 4o 4 2u 1)

* 1 irreducible components of dim¢ = 0, with total 116 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI} = (u'® 4 u'® 4 ... + 20+ 1)

(i) Arc colorings

w? — 5ut® + 13u!6 — 200 + 20u!? — 1300 + 7u® — 408 +3ut —u? + 1
—u?? 4+ 4420 — 9u'8 4 12016 — 120 + 10u' — 9u0 + 6u® — 3ub — 2

w'? — 3ul0 + 508 — 448 + 2ut —u? + 1)

ayp =
ag = 2 4210 98 4 g4
—u3 + 8ud - — 4w —
w3 — Bl b 2013 4y
uB® —21uBS + ... —2u2 + 1
—u®® + 20086 + ... — 5ud — 2y
(—u54—|—13u52+---—2u2—|—1>

asz =
ag =
a7 =

w0 — 12054 + -+ 4 B5u® + 20t

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!'* +108u'12 + .- +4u —6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 ult® 45500 o 2u 1

C2,Cq T T TR
s ' M o~ 4460u + 481
¢4 ut® — M 4 4460u + 481

Cs5,C10 w4 2u 41
cr u'® — 305 4 ... — 3102u 4 1491
€8 wtt® —13uM% 4 ... — 28714u + 1493
Co W6 555 oy 4
i1 u® 4 3uM 4 .- 4 3102u + 1491
Cra u''® 4+ 13u + -+ 28714u 4 1493




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, o Yyt 13yt 10y 41
C2,Cs5, Ce y116_55y115_’_.___2y+1
C10
3,4 ytt0 — 23415 4 ... — 20059950y + 231361
7y e Yt 429915 ... 1 95901630y + 2223081
cs, C12 Yt 425915 L 493441422y + 2229049




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

= —0.980916 + 0.1878061

—0.46811 — 4.806261

—0.980916 — 0.1878061

—0.46811 + 4.806261

1.038040 + 0.2642081

1.92758 4 0.705521

1.038040 — 0.2642081

1.92758 — 0.705521

0.946091 + 0.5129091

0.924676 + 0.7445951

0.946091 — 0.5129091

0.924676 — 0.7445951

—1.060920 + 0.2135081

—1.38450 + 2.539561

= —1.060920 — 0.2135081

—1.38450 — 2.539561

—0.814804 + 0.4096731

—0.25942 — 4.776111

—0.814804 — 0.4096731

—0.25942 + 4.776111

= —0.628886 + 0.6533481

—3.77819 — 10.547001

—0.628886 — 0.6533481

—3.77819 4 10.547001

0.942453 + 0.5599251

—0.504439 — 0.8723681

= 0.942453 — 0.5599251

—0.504439 + 0.8723681

—0.940053 + 0.5701261

—2.86201 + 5.768651

—0.940053 — 0.5701261

—2.86201 — 5.768651

0.625796 + 0.6443911

—1.43505 + 5.594181

= 0.625796 — 0.6443911

—1.43505 — 5.594181

—0.608287 4 0.6514691

—5.84997 — 2.815001

—0.608287 — 0.6514691

—5.84997 + 2.815001

—0.960180 + 0.5666481

—4.81422 — 1.944541

[ev] Nen] Nen] Hen] Hen] ool Hen] Hen) Hen) R o) fe) Heo) Hen] Neo] Hev] Heo] Hev] Nev] Jeo) Rev) Ran)

= —0.960180 — 0.5666481 —4.81422 + 1.944541 0
= 0.625750 + 0.6083791 3.733981 0. —6.649371
= 0.625750 — 0.6083791 — 3.733981 0.+ 6.649371

0.555810 + 0.6605981

—6.69334 + 2.659821

—9.45564 — 3.843481

0.555810 — 0.6605981

—6.69334 — 2.659821

—9.45564 + 3.843481

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

= 1.118040 + 0.2267531 — 2.330401 0
= 1.118040 — 0.2267531 2.330401 0
= —1.026760 + 0.5006071 0.25942 — 4.776111 0
= —1.026760 — 0.5006071 0.25942 + 4.776111 0




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u= 0.527461 4 0.6699391 —5.43231 — 5.034601 —7.42120 + 3.612951
u= 0.527461 — 0.6699391 —5.43231 + 5.034601 —7.42120 — 3.612951
u = 1.000610 + 0.5700561 —5.38292 + 2.132331 0

u = 1.000610 — 0.570056.1 —5.38292 — 2.132331 0

u = —1.125530 + 0.2516301 5.84997 4 2.815001 0

u = —1.125530 — 0.2516301 5.84997 — 2.815001 0

u = —1.129690 + 0.2335611 4.55451 + 4.969371 0

u = —1.129690 — 0.2335611 4.55451 — 4.969371 0
u=1.123830 + 0.2645801 4.81422 + 1.944541 0

u= 1.123830 — 0.2645801 4.81422 — 1.944541 0

u = —0.629046 + 0.5629501 —0.924676 + 0.7445951 —1.70283 + 0.477851
u = —0.629046 — 0.5629501 —0.924676 — 0.7445951 —1.70283 — 0.477851
uw = 1.133100 + 0.2285991 2.27795 — 9.988951 0

u = 1.133100 — 0.2285991 2.27795 4 9.988951 0

u = —1.015750 + 0.5627081 —1.48579 — 5.232031 0

u = —1.015750 — 0.5627081 —1.48579 + 5.232031 0

u = —0.337603 + 0.7677691 —2.32174 + 12.728401 —3.20740 — 8.633171
u = —0.337603 — 0.7677691 —2.32174 — 12.728401 —3.20740 + 8.633171
u = —0.529452 4 0.6497221 —2.91594 4 0.492501 | —4.26845+ 0.1

u = —0.529452 — 0.6497221 —2.91594 — 0.492507] | —4.26845+ 0.1

u= 1105330+ 0.3613731 1.38450 + 2.539561 0

u= 1.105330 —0.3613731 1.38450 — 2.539561 0

u = —0.346326 + 0.7578641 —4.55451 + 4.969371 —6.51117 — 3.104871
u = —0.346326 — 0.7578641 —4.55451 — 4.969371 —6.51117 + 3.104871
u= 0.335567 4+ 0.7625181 — 7.706241 0.+ 4.972801
u = 0.335567 — 0.7625181 7.706241 0. —4.972801
u = 1.018400 + 0.5730951 —3.98793 + 9.860851 0

u = 1.018400 — 0.5730951 —3.98793 — 9.860851 0

u= 1.125490 + 0.3182381 5.38292 — 2.132331 0

uw= 1125490 — 0.3182381 5.38292 4 2.132331 0




Solutions to I} V—1(vol + /=1CS) Cusp shape
u = —1.123770 + 0.3306361 6.69334 — 2.659821 0
u = —1.123770 — 0.3306361 6.69334 4 2.659821 0
w= 0377708 + 0.7331381 —5.83527 — 4.816591 —8.08076 + 4.426761
w= 0377708 — 0.7331381 —5.83527 4 4.816591 —8.08076 — 4.426761
u = —1.125560 + 0.35184471 5.83527 — 4.816591 0
u = —1.125560 — 0.35184471 5.83527 4 4.816591 0
u= 0.399874 + 0.7166771 —4.83551 + 2.871011 —6.77334 — 2.972811
u= 0.399874 — 0.7166771 —4.83551 — 2.871011 —6.77334 4+ 2.972811
uw= 1.129480 + 0.3588411 3.70499 + 9.780921 0
u= 1.129480 — 0.3588411 3.70499 — 9.780921 0
u= 0.323517 + 0.7476921 1.43505 — 5.594181 1.64640 + 5.685911
u=0.323517 — 0.7476921 1.43505 + 5.594181 1.64640 — 5.685911
uw = —0.379511 + 0.7084791 —2.23541 4+ 1.502731 —3.25161 — 1.057291
u = —0.379511 — 0.7084791 —2.23541 — 1.502731 —3.25161 4 1.057291
u = —1.089270 + 0.5035621 0.46811 — 4.806261 0
u = —1.089270 — 0.5035621 0.46811 + 4.806261 0
u = —0.313605 + 0.7349791 0.504439 + 0.8723681 0.174078 + 0.3213681
u = —0.313605 — 0.7349791 0.504439 — 0.8723681 0.174078 — 0.3213681
u= 0.773108 + 0.1499121 1.52280 + 0.577531 5.07994 — 0.959021
u= 0.773108 — 0.1499121 1.52280 — 0.577531 5.07994 + 0.959021
uw = —1.120070 + 0.4928191 2.80572 4 2.049141 0
u = —1.120070 — 0.4928191 2.80572 — 2.0491471 0
uw = 1.118000 + 0.5005331 4.83551 4 2.871011 0
uw = 1.118000 — 0.5005331 4.83551 — 2.871017 0
u=1.091560 + 0.5685641 —2.80572 + 2.049141 0
u = 1.091560 — 0.5685641 —2.80572 — 2.049141 0
u = —1.098380 + 0.5618471 —0.13230 — 6.377341 0
u = —1.098380 — 0.5618471 —0.13230 + 6.377341 0
uw= 1.120950 + 0.5171121 5.43231 4 5.034601 0
u = 1.120950 — 0.5171121 5.43231 — 5.034601 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.123940 + 0.5245521 3.98793 — 9.860851 0
u = —1.123940 — 0.5245521 3.98793 4 9.860851 0
w= 1.103770 4 0.5703511 —3.70499 4 9.780921 0
w= 1.103770 — 0.5703511 —3.70499 — 9.780921 0
u = —1.123670 + 0.5553231 2.86201 — 5.768651 0
u = —1.123670 — 0.5553231 2.86201 4+ 5.768651 0
u= 1.124810+ 0.5612107 3.77819 4 10.547001 0
u=1.124810 — 0.5612101 3.77819 — 10.547001 0
u = —1.121090 + 0.5705541 —2.27795 — 9.988951 0
u = —1.121090 — 0.5705541 —2.27795 + 9.988951 0
u= 1.125750 + 0.5689321 2.32174 4 12.728401 0
u= 1.125750 — 0.5689321 2.32174 — 12.728401 0
u = —1.126700 + 0.5711181 — 17.77241 0
u = —1.126700 — 0.5711181 17.77241 0
u = —0.242875 4 0.6877531 1.48579 + 5.232031 1.33742 — 5.640571
u = —0.242875 — 0.6877531 1.48579 — 5.232031 1.33742 + 5.640571
u= 0.224332 + 0.6678291 2.91594 — 0.492501 4.26845 — 0.199791
u= 0.224332 — 0.6678291 2.91594 4 0.492501 4.26845 4 0.199791
u = —0.412080 + 0.5544491 —1.52280 + 0.577531 | —5.07994 — 0.959021
u = —0.412080 — 0.5544491 —1.52280 — 0.577531 | —5.07994 4 0.959021
u = —0.147126 + 0.6537141 0.13230 — 6.377341 | —0.27591 4 5.278541
u = —0.147126 — 0.6537141 0.13230 4+ 6.377341 | —0.27591 — 5.278541
uw=0.170503 + 0.6461911 2.23541 4 1.502731 3.25161 — 1.057291
u= 0.170503 — 0.6461911 2.23541 — 1.502731 3.25161 4 1.057291
u = —0.123289 + 0.5688551 —1.92758 4+ 0.705521 | —3.67143 — 0.707791
u = —0.123289 — 0.5688551 —1.92758 — 0.705521 | —3.67143 + 0.707791




II. u-Polynomials

Crossings u-Polynomials at each crossing

€1 uMC 4 55u® 4 2u 41

C2, Cg u — 2y 41
C3 w0 4t o — 44600 + 481
Ca ult® — P o 4460u + 481

s, C10 w4 2u 41
7 utt® — 3utt 4. — 3102u + 1491
& ult® — 13w + ... — 28714u + 1493
Co ur® — 550t 20 1
c11 w0 4+ 305 4L 431020 + 1491
c12 u® 4 13uM® + - 4 28714 + 1493




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cy MO 1315 10y 41
C2,Cs5, Ce y116_55y115+.”_2y+1
C10
116 115

C3,C4 y o — 23y 7 4 - — 20059950y + 231361

c7,c11 Y10 £ 209115 ..+ 95901630y + 2223081

Cs, C12 Y0 425915 1. 193441422y + 2229049
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